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5100 SE2+Y 248,390,000 109,470,000 0 357,860,000 347,500,000 10,360,000
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4118 Z= Q174 H| 0 0 0 0
4117 nYE=Z 5,500,000 5,500,000 5,500,000 0
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HEa 0 0 0 0 0 0
4510 &3 0 0 0 0 0
4519 7|23 437,740 0 437,740 0 437,740
4600 Of|H|H| 437,740 0 437,740 0 437,740
4610 Of|H[H]| 437,740 0 437,740 0 437,740
4611 OflH|H]| 437,740 0 437,740 0 437,740
EXtet7| EFXbLIX| E 0 0 0 0
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1249 Z 7| i 0 0 0 0 0
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1315 E7|H| S0 ] 10,000,000 1,000,000 0 11,000,000 11,000,000 0
1316 At H10f | 0 0 0 0
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2100 955 xf &g 0 0 0 0 0 0
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5120 =2 =23¢ 0 0 0 0
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5219 7| 23| A MY = 0 0 0
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5310 EA|l==2+¢Y 0 0 0
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5320 ZEAB 2S¢ 0 0 0
5321 3¥E+Y 0 0 0
5322 CHOIALE &2 0 0 0
5330 7|Etu SO 0 0 0
5331 =2 M A 0 0 0
5332 d&+Y 0 0 0
5339 7|Etu S5O+ ¢ 0 0 0
5400 B |+ 200,000 200,000 0
5410 O 0| Xt=¢& 100,000 100,000 0

5411 Of = O[ X} 100,000 100,000 0|o2 ZAO|R}F 2@ 100,000
5420 7|Etm 22|49 100,000 100,000 0

5421 & ¢ 100,000 100,000 Olz=gM waz 100,000

5426 FHALAZ 0[] 0 0 0 0
2200 1@ R AS 0 0 0
2210 7|xte= 0 0 0
2211 7| X=Xt 0 0 0
1200 FXI2t7|EFXHE S 0 0 0
1220 EXpRpAFEE 0 0 0
1221 £X77t5 0 0 0
1229 7|EMFRpAR= Y 0 0 0
1240 7|EFRp=¢ 0 0 0
1241 HAHSEEF 0 0 0
1242 YXESF2 =+ 0 0 0
1243 Z7|tHA =2+ 0 0 0
1249 7| EfRHAF= 0 0 0
1300 Y XpAHOH 2= 0 0 0
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1310 FE A E RO Zb = ¢ 0 0 0
1311 EX|0f 2} CH 0 0 0
1312 AS0f 2 CH 0 0 0
1314 7|7.7| 70 Z+Ch 0 0 0
1315 & 7|H| S04 2T 0 0 0
1317 = A{Of 2} CH 0 0 0
1320 FEAFE RO 2= 0 0 0
1321 Y 0™ AHAHOf2H 0 0 0
2100 KSR Y= 0 0 0
2110 CH7|X 3 0 0 0
2111 B[ XS AR 0 0 0
2200 DL AS 0 0 0
2210 7|xte= 0 0 0
2211 7| X LAY 0 0 0
2220 7|EF S RY 0 0 0
2221 YOS+ 0 0 0
2229 7|EtnE R+ 0 0 0
N =l | 248,590,000 227,700,000 20,890,000
O|AFE T 7|0l HAtE 38,987,740 25,697,049 13,290,691
A2+ LEA 287,577,740 253,397,049 34,180,691
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o= 20218tHE | 20208tHE =71AB) A=y
2t ] = Of £E(A) 0 Lk(B)

4100 2% 95,500,000 82,500,000 13,000,000

4110 W= 95,500,000 82,500,000 13,000,000
4111 120 0 0
4112 meato2 0 0
A3 WAABFE 0 0
4114 A AHEREHS 0 0

MY =0HAol=:1%47((3Y):5,000,000
2%+7((39):3,000,000
4115 A|Ztzo|= 90,000,000 77,000,000] 13,000,000 *%’F”Eﬂzjgl(gfa %))3366%%%%%% 90,000,000
*StS a:1%71:5,000,000
2%}7]:5,000,000
4116 EEZ9= - 0
4118 Z1m QI AH| - - 0
4228 WE|RZ 5,500,000 5,500,000 BALE R 5:(79)
4120 2AE 0 0 0

4121 e 0 0
4122 B0 = 0 0
4123 FAAEZ+Y 0 0
4124 B AEHEHF 0 0

4125 YA 2RI Z4H| - - 0

4200 22| 23H| 94,140,000 68,470,000 25,670,000
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*OIE{Hl H|=4l 0| &F:122,310*127 ¥ =1,467,720
*Shm & ™ A5 0] 3]:513,800

*St =00l 0|8 LS 7|Et & 41H|:470,000
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L s 20215 2320_. A (A-B) A=
o =l = ofl AH(A) 2 20] Ak(B)
A 32,620,000 13,000,000 19,620,000
4211 E=2EH| - 0 0
A oM k2| Sl A 8EA|E 22 [ H]:4,000,000
*M 7|2 £H2]:3,300,000
AHH|2h2|H e
4212 HH|&E|H| 16,000,000 16,000,000 vUa 0| B SAIHAD 7| HUHAH|8:3700,000 16,000,000
587 SAZ| /X248 22|H|:5,000,000
*Shl 7| = A A H|8:270,000%671 2 +
4215 A2 89| 3,620,000 3,620,000 1,000,000( 2 & )=2,620,000 3,620,000
MHASE ?loid 7t 8D E(22]):1,000,000
* A (153 T8l 2 A= (930,000 * 1270 &
N =11,160,000)
ECE!E —_ ' : - - —_ L 1 1
4216 13,000,000 13,000,000 0 v 10 71 2 4T 2 (8 TS AN 600,000 13,000,000
ST DA M A E (S U8 XS XHE)=240,000¥
4219 7|EtA| A &t2| ] - - 0
Qutka 37,300,000 35,750,000 1,550,000
4221 O{H| W SH] 500,000 - 500,000
4223 AR EH| 500,000 500,000 0|7 E AZEY O 2to|MA AN 1,000,000
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